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UEA (SEMINAR GROUP M)

NAME: MOHAMED ABOKAMEL

EDU NUMPER: IM 12
[image: image9.bmp]                                   

The length =L                                                 The length of the small square=x

V= the volume of the box

V= (L-2x)^2  *x            THEN    L-2x>0

THEN         x<L/2

Let x= L/3         V=(L-2L/3)^2*L/3      THEN V=(L/3)^2*L/3=L^3/27=
LET x=L/4         V=(L-L/2)^2*L/4         THEN V=(L^2)^2*L/4=L^3/16=  
LET x=L/5         V=(L-2L/5)^2*L/5       THEN V=(3L/5)^2*L/5=9L^3/125=
LET x=L/6         V=(L-L/3)^2*L/6           THENV= (2L/3)^2*L/6= 4L^3/54= 


LET x=L/7         V=(L-2L/7)^2*L/7        THEN V= (5L/7)^2*L/7=25L^3/343=   


LET x=L/8          V=(L-L/4)^2*L/8         THEN V=(3L/4)^2*L/8=9L^3/128=

	X=
	L/3
	L/4
	L/5
	L/6
	L/7
	L/8
	L/9

	
	
	
	
	
	
	
	

	V=
	0.03074
	0.0625
	0.072
	0.074
	0.072
	0.0703
	0.0672



From the previous diagram we can deduce that when x=L/6

It well be the maximum value


WHEN THE SHEET IS RECTANGLE

L+Y=K      THEN    L*Y=Y (K-Y) =      Y*K-Y^2

V= (L-2X) (Y-2X) X

   = [L*Y -2LX -2XY+4X^2]*X

    = LYX – 2LX^2- 2X^2Y+4X^3

dv/dx= LY-4LX-4XY+12X^2

        = 12X^2-4X(L+Y)+LY

        = 12X^2 -4XK+YK-Y^2

To calculate the maximum value put dv/dx=0
    12X^2 -4XK+YK-Y^2=0

X= [4K
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X=[ K
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Then the maximum value when x=[ K-
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